

$$H(p) = - \int_{\mathcal{X}} p \log p \, dx$$

$$\mathcal{X} = \text{supp}(p)$$

$$\langle \phi \rangle_p = \int_{\mathcal{X}} \phi(x) p(x) \, dx$$

$$\langle \phi, p \rangle = \int_{\mathcal{X}} \phi(x) p(x) \, dx$$

$$x_1, \dots, x_n \quad \hat{\mu}_\alpha = \frac{1}{n} \sum_{i=1}^n \phi_\alpha(x_i)$$

$$\text{find } p \rightarrow \mathbb{E}_p \phi_\alpha = \int_{\mathcal{X}} p \phi_\alpha(x) \, dx = \hat{\mu}_\alpha$$

max $H(p)$

Shannon's Entropy

$$k = 1, \dots, K$$

$$\hat{\mu} = \mathbb{E}_p \phi = \mathbb{E}_p \begin{bmatrix} \phi_1 \\ \vdots \\ \phi_k \end{bmatrix}$$

$$\max_{\lambda} \frac{1}{N} \sum_{n=1}^N \log p(x_n; \lambda)$$

$\vdots \begin{matrix} E_{\mathbf{x}} = \mu \\ \downarrow \mathbf{x} \end{matrix}, \text{Cov} = \Sigma \rightarrow \begin{matrix} \lambda_1 = \Sigma^{-1} \mu \\ \lambda_2 = \Sigma^{-1} \end{matrix}$

$$p(\mathbf{x}; \lambda) = \exp \{ \langle \lambda, \phi(\mathbf{x}) \rangle - A(\lambda) \}, \quad A(\lambda) = \log \int \exp \langle \lambda, \phi(\mathbf{x}) \rangle$$

$$\log p(\mathbf{x}; \lambda) = \langle \lambda, \phi(\mathbf{x}) \rangle - A(\lambda)$$

$$\frac{1}{N} \sum_{n=1}^N \langle \lambda, \phi(x_n) \rangle - A(\lambda) = \langle \lambda, \underbrace{\frac{1}{N} \sum_{n=1}^N \phi(x_n)}_{\hat{\mu}} \rangle - A(\lambda)$$

$$\frac{\partial}{\partial \lambda} \left(\frac{1}{N} \sum_{n=1}^N \phi(x_n) \right) = \nabla A(\lambda)$$

$\hat{\mu}$

$$A(\lambda) = \log \int \exp(\langle \lambda, \phi(x) \rangle) dx \quad \phi = \begin{bmatrix} \phi_1 \\ \vdots \\ \phi_n \end{bmatrix} \text{vec}(\Sigma)$$

$$\partial_\lambda A(\lambda) = \frac{1}{\int \exp(\langle \lambda, \phi(x) \rangle) dx} \int \partial_\lambda \exp(\langle \lambda, \phi(x) \rangle) dx$$

$$\underbrace{\left(\frac{1}{\int \exp(\langle \lambda, \phi(x) \rangle) dx} \right)}_{p(x; \lambda)} \int \exp(\langle \lambda, \phi(x) \rangle) \phi(x) dx =$$

$$= \int p(x; \lambda) \phi(x) dx = \langle \phi \rangle_p$$

$$p(x; \lambda) = \exp(\langle \lambda, \phi(x) \rangle - A(\lambda)) = \frac{\exp(\langle \lambda, \phi(x) \rangle)}{\int \exp(\langle \lambda, \phi(x) \rangle) dx}$$

$$\exp(-A(\lambda)) = \frac{1}{\int \exp(\langle \lambda, \phi(x) \rangle) dx}$$